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end
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12) greeting = "Hello!"

13) puts greeting

14) puts greeting.downcase
15) puts greeting.upcase

16) puts greeting.capitalize

17) puts greeting[1..8]
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20) ymo = ["Hosono", "Takahashi", "Sakamoto"]
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(1) prime_factors

(2)
def gem(x, y)
if x <=y
measure = X
else
measure =y
end
while not(divide?(x, measure) && divide?(y, measure))
measure = measure -1
end
measure
end
(3)
def syracuse(n)
list = [n]
while n != 1
if divide?(n, 2)
n=n/2
else



n=@x*n+1) /2
end
list.push(n)
end
list
end
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def ask_name

puts "What is your name?"

puts "Hello, " + gets.chomp + "!"
end
ask_name
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s = "Hello! How are you?"

00000000000 0000000 sO0000Hello! How areyou?0000000000O000O0OOOO
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s = "Hello! How are you?"
puts s
puts s
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s = gets
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puts s

s = "Good-bye!"
puts s
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(1) "Hello" * 3

(2) "Good morning!" + "How are you?"
(3) "How do you do?".index("do")

(4) "How do you do?".index("do", 5)
(5) "John" < "Jack"
(6) "Good morning!"[3..5]
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5+3%2%x8<4-9/3+2

B+ (%2 *2)) <(4-1(9/3))+2)

coooogooo

OO 3.1. 0000O0O0OO0OOOOoobooOooon

(1)9 % 4 2

(2)-3 + 6 % 4 - 3
(3)9/3%3%5<=5-35%3

(4) (-2 +4) /3>5+-3x2

(5) "cat".length * 3 == ("cat" * 3).length
(6) "apple".index("1") + "orange".length / 2
32 0OO0OO

321 if
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if X
Y

else
A

end

X0yOoZOoOO0OO0ODOO0ODO0OO0O*®00o00oooooooooooo0o00000000 X00ooooooooo

Otrue0000YOOOOOOOODODOOODOOOOOOif00 endd000OD0OOO0OOOOOOD XODO

O false0DODOnilO00O0ODO0OD0 Z00000000000000000000D0D0O000*0
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def abs(x)
if x >= 0
X
else
-X
end
end

X000 +trueOOOO YOOODODOOOOOODODOOOOOOODODOOOOOOODODOOOOOODOO
ogooooooa

if X

Y

end

O0O0O00O0O0 X0 falseOOO nilOOODODOOODOODODOO0DODO0O0OO0DODODOOOOOODOOODOO
if00 end0 00000000 nilO0O0OO
JO0000000oDooooDbo0oobDboOo0n elsif 000000000 O0ODOOODOOODOOOOO
if X3

Y,
elsif X5

0000000000000 000000000000000000000000000000000000000000000
gooooooo
3 + 5 ==28; "abc" + "xyz"; 5 * 8
goo400000

100000 Ruby 00000 X O trueJ00000000false 000 nil 000000000000 YOOOOOOOOOO
0000000D0000X O trueD falseO nil 00000000000 OO0O0OOOOCOOO
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Y,
elsif X3
Y3

elsif X,
Ynfl
else
Y,
end
O 3.2. 00 byearObmonthbday D0 OO O0O00DOOOO0O0OOOOOODOOOOODOOOODOOOODOO
U000 cyearUcmonth cday U0 00000000 OOOOOOOOOODOODODOODODODOODOD
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if cmonth > bmonth
cyear - byear
elsif cmonth < bmonth
cyear - byear - 1
elsif cday >= bday
cyear - byear
else
cyear - byear - 1
end
00 33.i0jO0000O000oo0oooOoooooboboonobooOoOooon
(1)iD jOo0DO0O0O0OO00OO0OOOOO

(2)i0 jO000S5000000000004i00020 j00070000 0000

3.2.2 while
ggboooboooboobboobooobooboboobboobooobo0bbUUdl whileld
goboboooooboobobobobooooogooo

while X
Y

end
00000000000 000O0O0 X0OOUOUOOODODOoOOoOO falseO00O nil0O0OO0O0OOO Y OOOO
0000000 YUOOO0O0000000 XO0OOOOOOOOOO falsed nilO0O0ODOODOODOOO
O00X0O0ODO falseO nil 0000000000 O00D0O00O00O0O whileOOOOOOOOODODOOODO
X 0O falseOODO nilO0O00O00OQ0Y ODOOOOOOOOODOOODOOOOwhileOOOOOOO nilOd
ooo

OO0 whileOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOO
while true

puts "endless"
end

19



Ubooobooooobo0ob0oboob0bobOobbOb endlessd0000ooooooboogoonogonn
0000000000000 0000000WIndowsOOOOODOODOOOOD [C]]+CO0D00O0O0ODO
goboobooboboooo

0 34.:;0000j00000000000OC0O0D0O0DO 0 0D00D00D0000O0O0O0O0O0O0O0 100
jO00OOOOOOOOoOOooo

oooooo Kook ok ok ok ok ok ok ok ok ok >k ok ok ok ok ok ok sk ok sk sk skook skook skok sk sk sk sk ok skook skok skok ok sk ok skook skok skok sk ok sk skook skok skok skok skok skokoskoskok skokoskok skokoskokskokokk

oo oooooo<:000000C00 4000000 j00000000O0O0D0O0O

ooooo i, j
0o0i0 jO
oooo

()k=0,z=10000
(2)k<j000300000000000 0000000000000
(3)z=z*i0k=k+1000020000

Kok >k ok ok ok ok ok ok ok ok ok ok sk ok ok ok sk ok ok sk ok skook skook ook sk sk sk ok ok skook sk ok sk ok sk ok sk skook koo sk ok sk ok sk sk ok kool skok sk sk ok sk skook ko skok sk ok sk ok ok skook skok skok skok ko skokok ko kok

0000 k<j000000000000D0OD 3)0000000D0D0D0ODOOOOOODO@B)ODOOOO
0000 k00D 1000000000DkO0 3)0D000DODO0O0ODODOODOODOODOOOO®B) Oy
0000000 k<yj000000000000000000DO0O0O0O00DOOOO z200010¢:0450000
ocoooooooooooooooooooo«:0j0000000

000000000 whileOOOOOOOOOOOODOO

k=0
z =1
while k < j
z =2z % i
k=k+1
end

OO00i00020j000300000000000x00000O00D000k < jO00 true00OD0
whileOOODOOO0OO0O=zO 1000z 10020000 z0OOOOOODOO kx + 10010000k
O00000O00 k< jOOO trued 00000 whileOOOOOOOOOz *» i00 40k + 100 2
Ub0b00 z0k00OO00OODODODOO k< jUOO true0 000000 whileOOOOOOOOOz *
ifd080k + 100300000 z0k000000000000 k< jOOO falseOOOODO while
0000000000 00000 z0000000000000O*10

0 35 (1)n0000000000O0OODOODOOCOO0OODnUDOOOODOOOOOOUODOOOODODOD

*11 yhile 0000 nil 000000000 200000000000
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Ooooooooooboooon
k=0; z=0
while k < n
z =2z +Kk
k=k +1
end

(2) 00000000000 ODO0OOOO
17 27 27 37 37 37 47 47 4a 47 57 57 57 57 57

gobodnbO00b0O0OO0OO0DOO0ODLOOODOODLOODODbOObLOO

i=mn; j=1; sum =0

while 1 - j >= 0
sum = sum + (§ * j)
i=1- ]
3=+ 1

end

sum = sum + (j * i)

000000000000 000000D0000 sum =sum + (j x 1) 000000000000 OOOO

gbobooooobooboboboboooooogooo
(3)s00000000t00000000D0O000DO0O0O00DDO0OO0OD00O0DD0O0O0sOO0tO

goboobobooobooboooboobbooboobo

k=0; z=0

while k < s.length
if slk..k] ==

z=z+1

end
k=k +1

end

z

ooo0ooOoOooobooOoooo0oooooOoooboboOoO0 100coo0oDoOoooboOoooDo
(4s0000000000D0000O0DO0O0 sO0D0D0O0O0O0OD,000000000000000000DO
coooooooood

k =0; 1 = s.length; t = ""

while k <1 - 1
t =1t + slk..kx] +","

k=k +1
end
if 1 >0
t=t+s[l-1..1- 1]
end

t
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00 8.6. 000000000000 OO0O
(1) 00000 RO0000000000D0O0O020

1, 1,2, 3,5,8, 13, 21, 34, 55, ...
() 00000 n00000000000000
1,2,2,3,3,3,4,4,4,4,5,5,5,5,5, ...
(3) 00000 n00000000000000
1,1,2,1,2,3,1,2,3,4,1,2,3, 4,5, ...

(4000 sO00000s0O0000D0O0O0ODDO0OODODOOOOODabede0OOODOOOODODO
Oedchad0 OO OO

4 O0O0O0O

00ooooooooooogl1e0O00o0ooooo0O 18oOooOooOo0O0O0O0O0COOC0OOOOObObbBOo
if0000bo0oboo0ooooooooooooog

if ADOO
ifAO 16000
AODOOOOO
end
elsif AD 18000
AODODOo
end

cooobooooboooobooooooooooooo

if ADOODOODOO AO 16000
ADOODODO

elsif A0 18000
AODOODOOODO

end

goboobooooboobooo

if0AOO0DOO0OOCOO0AO 16000000000 AO 18000
AODOODOODO
end

*120pgpoooo0O0o0000O0DOoooo
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gobboooooobooboooobooooobOboOoOooOo0ooooooo0ooOboOobOOoOoOoOoboOobooOo

gogoobooboboooooobbooooobooboooobobbboooobLb bbb bbooooo

gobooobooboooboboobbooobobooobbooboboobbooobooobboobboon

cobooooboocooooobooobooOoOoOoOboO0oOoOOoOmoooooobooobooOooobOboOoOooOoOooon

oooood

goooouoooooooooooooooooobobobbbobbbbbbbbbbbbboooogoo

otnoooOomooooooooooooooboooboooooooa

pO0qO0D0D0DOtrue 000 falseD DD DOODOOO0DODODOOO30

e p && q

U000b00bO000p0 qUOD00O0OO0 true0 000 true00000OD00ODO0O falsed OO false

oooo

epllq

oot ddpl 0000 falseJUJUO falseJUOooooodd truetd g

true 0000

e !p

UoboobodbbO0pbDO0 true 00 falseJODODUOpUOOO falseUDO true 0O 0.

goboooooooooboocooboocooboooooao

p q p && q p q pllgq p 'p
true true true true true true true || false
true | false false true | false true false true
false | true false false | true true
false | false false false | false false

000000000000 000!'0&0 110000000000D000O000D0O0

lp& q |l r

((lp) & q) || r

coooooooon

00 4.1. 0000000O0O0O00OO0

(1) 1(6 / 2==23) && (6 %4 ==1))

*13Ruby 00D DD0OO0OD0D0DOO0O0ODOOO00O0OOO00OODOON0D00O000ND0O00N00N0OON0NoNonoo
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(2)!1(6 /2==23) &k (6 % 4 == 1)
(3) ' (("abcd".length) == "vwxyz".index("y"))
(4) ' (true && false) && !(true) || !(true || false)

00 4.2. 0000000 trve00000O0nO0sO000OO0O0ODOOOODODOODOODOODOOO
00 n0d00o0OO00OO00OsbOODbOO0ODbOOOOOOODODO

(1) (s.upcase == "AB") && (s.capitalize == s)

(2) (@ % 3<n%2) & (o< 10)

3) (@ *n==30) || (n*n==n+n)
(4)

H'M@=nx*n) || % (n+ 1) ==1))

0 43. 00000000000 O0O0DOOODOOOO0OODOOOODOOOOOOOOOOD nOOO
cobotdiOnO 100000010 n00000000000D000DOOOO0O00ODORnO0OO0DOOODO
gcoooooooob nOOCOOOOOODOODOOOOOlIDOOODOOnOODOOOOOOODOOO
ocoobooooooooOOO0OODODOOOOODOODOORODOOODOODO 1ODOO0OO0O0ONROODO

goboob nO00bO0bO0ODLDbDOnDOODDOODO

ooogoono Kook ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok sk ok ok ok ok skook sk ok sk ok sk ok ok ok ok sk ok sk ok sk ok sk ok ok skook koo skok sk ok sk ok ok skook skok ok skok sk ok sk skok skok skok skokeskokskokok k

oo0ooO0 ooooooor7nOO0O0O0ODpO0O0OOO0OODOOOODOOOODOOODOOO
oooboon
O00OnUOD0000O truel 0000000 falseld
oooo

if n==1
false
else
k = 2; b = true
while (k < n && b == true)
if n % k ==
b = false
end
k=k +1
end
b
end

Kook >k ok ok ok ok ok ok ok ok ok ok okook sk ok sk ok ok sk ok skook skook ok ok sk sk sk sk ok skook skok sk sk ok sk skook koo skok sk ok sk sk ok kol skok skok sk ok sk skook kol skok sk ok sk sk sk skok skok skok skok skokoskokok kok ok

00 44. sOt0000000C0COmOn0000O00O0C0CO0O0COOCODOOOOOODOOOOOOCOOO
oooo

(1)s0t0000 t0s000000 treel 000000000 false0OOODO0O0O0D0O0O00O0O index
cooooooobooooooooooboOooobooOooooOoOoOoOooOoOoOooOoboOoOom
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(2)000"abe"0 sO0 t000000D00D0D0O true0 000000000 falsedDOOO

(3) s0000000D0D0D000DD trueJ00000DO0O0 false0OODOOD sOO0ODO0OODO
00 falseJO0UOOOO0OOOoOobOobOobO0obo0oooooobooboobobobobooboobooogom
(4)s0000m0000 00000000 truel 00000000 falsedDOOO
(5)s0mI00000n00000000000000 truel 000000 falseJOOOODOO mOnO
sggobooboooobooboobobooboboooobd

0ob 4.,5. sOOO0O00ooobooooboobobooooboboooobobobDobobobubDoboo
oooooon
() sDO0OO0O"a"000""0000000O0O0

k=0; z=0
while k < s.length
if (1)
z = (i)
end
end

(iii)
(2)s0"a"0000000000 trued00000000000000000000 falseOOOO

k = 0; b = false
while k < s.length

if s[k..k] == "a"
b= (i)
end
k=k+1
end

(ii)
00 4.6. DO0ODOOODODODODODOODOOODODOOODOOO
(1)

k = 0; b = false

while (k < s.length - 1) && (b == false)
if slk..k] == s[(k + 1)..(k + 1)]

b = true
end
k=k+1

end

k = 0; b = true
while (k < s.length / 2) && (b == true)
if !'(slk..k] == s[(s.length - (k + 1))..(s.length - (k + 1))])
b = false
end
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end

5 ODObOoood

gogbooboooobooobooobboobboobboobbooLobboobboobboobboo
gobooobboooboboobbooobooobooobooobbooobobooboboboobboon
gboboooooooboboboboooog

51 OOO0OODOO

oboo0oo0oooobo0oobo sbt0ddb0sd t0000o0o0obo0obobodoobOoOd include?d

goboobooobbooboobooboooboo
def include?(stringl, string?2)

stringl.index(string2) != nil
end

goooooooooobooboobbuooobobooobboobboobboobDboobObboobbooo
obobooooooboobobobooo

include?("abcd", "bc")
Otrueddog
include?("bc", "abcd")

U falseOO OO
0000000000000 0000000000000000000000000000000000*40
U0 include?d 0 U0D0O0 stringl 0 string2 0000000000000 0OO0OO0OOOOOOOODOO
goobo0oooooooooobOobOoboobooUooooOooDOooDobOOobUobobooo
goobobooooooooboboboobooo

def DODOOOODO (ODDO)
ooooo
end

00000000000000000000000000000000000*50

M O0Ogo0000000000000000000000000000000 f(ac):x2—3$DDDDDaxDDDDDDDDDD
000000000 f(z) 000000 20000000 f(x)000 —20000

*159921 0000000
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0 5.1. (1) 00000000000 DO0O0ODO0ODO absOOODO

def abs(int)
if int >= 0
int
else
-int
end
end

(2)abs0000000020000000000000000 difference0000000000ODOO0

def difference(intl, int?2)
abs(intl - int2)
end

difference 0 000ODD 33 (6)000000000000DO0OO0OODOOOOOOOOO

def closer_to_five(intl, int2)
if difference(5, intl) <= difference(5, int2)
int1l
else
int2
end
end

Job0ooobogooo 20000 30bobobobD 1O0bO0obO0obO0ObO0ObO0ODbDO0ODbObDUObOoDbUODbOo
oboobooon

def closer(intl, int2, int3)
if difference(intl, int2) <= difference(intl, int3)
int2
else
int3
end
end

(3) 00000000000 0ODO00O00OD0U0O0O0ODOMIin0OO0ODO

def min(intl, int2)
if intl <= int2
int1
else
int2
end
end

gboobooobooobooooooooooobooboobobobobobobDobooboDoooooboooooo
gooooooboooooboobbuooobobooobboobboobboobDboobobboobbooo
gooooboooooooobbobooooooobobbboooobbbbooooobooooobobbbboooo
oboboooooboobobobobooooooooooo
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OO0 5.2. 0000000DCO0ODOOO0ODOOOO absOO0OminO0D0OOOO0DOM
1) 000000000000 000000000000D00000 sum_absO

2
3

gobooboobboobooboboobbobboobb abs_sumld
gboooooooobob0oboboobooboooobob0obob0ob00UOmin_abs

5) 0000000000000 200000000000 squared

(
(2)

3)

(0000000000000 0000000DO0O000D0O000D0DO00Oabsmind

(5)

(6000000000000 D0OD0D0D0D0DOD0Oformer half0 00000 0O0OOODODOODO
00000000 100000000000000 former_half("abcde") OO0 "ab"O O OO

(7) 0000000000000 0D00DDO0D000D0Olatterhalf000000000O0OO0OOODO
gooooooo 1oooooooooo

() 00000000000 LO0O0O0ODO0OD0ODO0DO0OO0OUOOOOOLO0OLOOLOOLDODODODO

0000 cross_overld

52 ODOOO0OOOODOODO

gobboooooobbooooooboooooooobooooooooooooobooooooooooon
ooooooobboooboooooo debbOO00bObO0OODbDO0ODbOOOObOObDOODOOODDbOO

(1 (n<2)
fib(n) = { fib(n — 1) + fib(n —2) (n > 2)

gobooooooooobooooooooOooOooOooboooooo

def fib(n)
if n <= 2
1
else
fib(n - 1) + fib(n - 2)
end
end

gobooooooooobooooboooobooooooooooogd

def fib(n)
k=2;1i=1; j=1
while k < n

z=]
j=i+]
i=z
k=k+1
end
J
end

gobooooooobooboooooooboboOooooooboboOobooOooobooOoOooOoOoobooOoooOooooboOoon
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coooboooobooooboooobooooobooooo

0 5.3. (1) 0000000000000 expO

def exp(x, y)
if y ==
1
else
x % exp(x, y - 1)
end
end

(2)000000000000000000000000 repeat0 0000000000 O0bye0 00000
gobgoobooboboooo

def repeat
puts "Input a string."
str = gets.chomp
puts str
if str.downcase != "bye"
repeat
end
end

00 54. O00DOODODOODOODOODOODOO

() D0D0000D000O0O0DfactorialJ000000O0ODOOOOODOOOOODOODOO

o) = 1 (n=0)
f(n) { n-f(n—1) (n>0)

(2)000000000000000000000000000000000 insert_commasd000000
O00000000000000000 insert_commas("abc") DO OO0 "a,b,c"d000O0O

(3) 0000000000000 0000D0U0O00D0U0O0O0ODOUOremove_commasd 0000
remove_commas ("a,b,c") OO OO "abc"OO OO

6 OO

goboooooobooooboooooooboooOooOoooboboOoooOooooOoboOoOobOoOobooOoooooon
coooogo

6.1 DOOOO0OODOODO

Ruby 00000

[zo, T1, oy Tn]
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ooooooooooOoooooOoboOooOobOooO0OOlDOO0..0000001ist0000C0O0O0O00OO

doooog kooooodg
list[k]

gobooooogo
Uboobodobobb lengthO0OODOOOO0OO0DOOOODOO 1ist.1lengthO0O0O0O00OOOOO0OCOO

UOlistO000O000O0OO00OOO0O0O0OOO0O0O0OOO0O0OCOO0OCO0OO0OO000AO0

O 6.1. list 000000000 OOOOOOO
(1)1ist 000000000 0DO0O0ODOO

def list_sum(list)
count = 0
length = list.length
sum = 0O
while count < length
sum = sum + list[count]
count = count + 1
end
sum
end

(2)1list 00000 20000000000000O00ODODOOLODODODOODO

def list_square_sum(list)
count = 0
length = list.length
newList = []
while count < length
item = list[count] * list[count]
newList.push(item)
count = count + 1
end
newlList
end

(3)00000000000000D000000000000000000 nil00000*50

def list_ave(list)
length = list.length
if length ==
nil
else
(1ist_sum(list) .to_f) / length
end
end

to_f00O0ODODODODODOODOODOOODOOOOO0OO0000000000000000000000ODO0OAO

*16 i1 0000000000000000000000
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/0000000000000000000O0DO0000O00O0000OO0000O0O000
(40000 ,00000000000000ROODOOOODOOOOODOOOOODOOOODO

def enumerate(n)
count = O
list = []
while count <= n
list.push(count)
count = count + 1
end
list
end

(5)000000000000000D00D0O0O0OO0O0O0

def append(listl, 1list2)
count = 0
length = listl.length
new_list = []
while count < length
new_list.push(listl[count])
count = count + 1
end
count = 0
length = list2.length
while count < length
new_list.push(list2[count])
count = count + 1
end
new_list
end

00 6.2. J00O0OO0OODOOOOOO

() 0000000000000 0000000000000 mexD000D00D0O0O0O0O0O0O0O0O0O min0O0ODO
obooooooboobOobonilooog

(2) 0000000000000 000DO0U00000O0DO00O0O0DO0O0D0O0OO0D0O0O0O0 excludel
3 000000000000 DODDODODDODODDODDDODDOODOO0OO0OO0OO0OOODODODDODDODDODODODD
list_ave_exclude_max_min0 000000000 3000000 nil0O0OOO
(0000000000000 00D0U0ODO00OLO00O0O0LO0OD0O0OLO0ODUOD0ODO treed0OODO
U000 falseJOUODODUODOO contain?l

(5 0000000000000 00000000D000D0D00OD0N0O0O0DOOO contractdO OO

contract([0, 1, 0, 2, 3, 2, 0]1)DO [1, 3, 2, 0JOOOO
(6)

OO 63. 0000OOOODOOOOOO
() 0000000000000 000000000000000 reversel
(2) 0000000000000 0O00O0D0O0O00UDOUD0ODODO0OD0DO0OUON ascendorderd00
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0 ascend_order([3, -6, 2, 5, -2, 3])O0O0ODO [-6, -2, 2, 3, 3, 510000

6.2 OO0O0OODOODO

00000000(1)0000000000000000(2)000000000000(3)00000000
000000000000
()ooooo

list[k] = z

O000000000000D0D0 1ist0d k000000 00000000000000000000000

(2) 00000 pushD00DOOODODODOOOOOUOODOOODODOODOOODOODODOOODOOOOODOOO
0000000000000000000 list.push(item) 0000000000000 O00O0 1list0OO
U0 item0O0000000O0O0OO0ODODODODOOOOOOODODODODODOOUOOOODDDODDODOOOOO 1ist
0O [0, 11000000000 1ist.push(2) 0O0O0O0O0OOOOOO 1listO [0, 1, 210000000
oooooon

(3) 00000 pepIODDOIODDODOODDODOODODOOODOODODOODODODDDOOODODOODODO
0000000000000 1ist.pop00000000OODODOOD 1ist0O [0, 11O000000OOOO
list.pop 00000000000 1istD [0]0O00O00DOOOOOOOOO

06.4. (1) 0000000000000 000O00OO00DO0ODO0O0OO00OO0OODONODOOOOOOO
0000000 O0oooooooooooo*g

def remove! (list,n)
if (n >= list.length || n < 0)
nil
else
list2 = []
while list.length > n + 1
list2.push(list.pop)
end
output = list.pop
while list2.length > O
list.push(list2.pop)
end
output
end
end

(2)

00 6.5. (1) 00000000000 pep000000DOOODOOOODODOOODODOO

*17 Ruby 00 0000000000000 0O000O0OOOOO!I00000000000
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(2)000000000000D0O0 1ist2000000000000O0O0ODOODO

list1l = [0, 1, 2]
list2 = 1listl
listl.pop
list1.push(10)

(3) 0000000 nOD000ODOO0UO0DDOO0DOODODUOOD nDOOOOODOODOODOOOOODOOOD
000 insert!0000 1istO [0, 1, 2100000000000 insert! ([list, 2, true) OOOO
OOO1istO [0, 1, true, 21 000000000

(40000000 n,mO0000000000PRO000mOODODOO0OO00O0O00O0O exchange!D

00 6.6. (1) 0000000000 DOOOOODOOOOODO

1 1
1 2 1
1 3 3 1
1 4 6 4 1
1 5 10 10 ) 1
1 6 15 20 15 6 1

O000n»n00C00000D000000 pascal_triangle00000000C0O0O00O0DO0 OO0OOO0ODOO
000 pascal_triangle(3) OO0 [1, 3, 3, 11 0000000000000 0O0O0OOMD

(2)

( gooooooon

RubyOOOOOOOOOOOOOOOOODOOOOOOOOOOOOOOOOOOODODOOOOOOOO

000000000000 0000000o00ooooo0ooDOoooon
Proc.new do |00 |

ogooooo
end

ooo0o0o0o0oo0o0 2000000000000 square000O00OO00OO0DO0OO
square = Proc.new do [x|

X * X
end
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goooobogooboooobooboooobobooobooboooobooboboboobobbooo
gooooobobooobbooobooobboboobboobobOoo0bbooobbDboobboOoo
call 00000000000 DO00000OCO0DO0000DODO00OO00 square0 00 300000000
square.call(3) 000000000 90000

gobobgoobogoobogoooogooooooobobobobooboboboboobooooboooboobooo
goboobogoboobooooboobooboboon

def do_twice(proc)
proc.call
proc.call
end
00 7.1. 0000000000000
()100000O00D00DO00000D000D000D0O0DO0O0DO00DOO0DO0ODDODOOODODODOD
OO0OCOOOO0OO0OO0OO0D0000 doubled
(2) 0000100000000 0DO0D0ODO0OO0DO0OO0ODO0ODO0O0OO0ODOOOODOODOOOOOODO
00000000 mapd
(3) 000 100000000000000000000O0000D0D00O0D0O0O0OO0DO0ODOnOO
OO0 true000000000000000000 filterO
(4000 100000000000000000DO000000000 true0000O0OOOODOODOODO
O0D0D0000DbO00D00000000 index_ofJ0000OO0000 true00000O0O0ODOOOOO
OO0 nilO000

8§ Uoonoon

Ruby OO OOOOOOOOOOOOOOOO0O0DOOOOOOOOOODOOOOOO0ODOOOOOO0OOO
ooboooobooooooooooboooboooboobooobooobooobOOoOoboobDOoooOobooooog
coboooobocooooobooobooOooooboboOoOobOOooobooOoOooOoOoooboboOoOooOoOoobooOoOooooon
cooood

8.1 [0 0OBankAccount OO O

gbobobdoboboooooooooboobooboobooooboobooboobooooboooooo
O0DO00DDO BankAccount U0 0000000000000 OO0OOO0DOOODOOODOOOOOOOO
coooboooooboooooooooOooOooOoooOboOoOobooOoOoooOooooOboOoOobOboOooboboOoooon

class BankAccount

def initialize(b, p)
@balance = b
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@pass = p
end

attr_accessor :balance
attr_accessor :pass

def withdraw(num, amount)
if self.pass == num
if self.balance < amount
puts "Insufficient fund."
else
self.balance = self.balance - amount
puts self.balance.to_s
end
else
puts "Incorrect pass."
end
end

def deposit(amount)
self.balance = self.balance + amount
puts self.balance.to_s

end

def view_balance (num)
if self.pass == num
puts self.balance.to_s
else
puts "Incorrect pass."
end
end

end

classU0O0O0O0O end0000O00OOOOODOODO
initialize D0 000000 0D00O0D00O0OOOCDOOO0DOO0OOG@balancel@pass000O0OOONO
000000 bpalance U pass U000 0O0O00O00O0OO0OOOOOODO0OOODOODOOOOOOODODO

oooooooo
acc = BankAccount.new(100, 1973)

0000000000 accd balance 000 1000pass D00 1973000 BankAccount 0000000
cooooooo

attr_accessor :balancel]attr_accessor :passUOU0O00O0OO0OOMO balanced pass 00O OO
ooooooboOooooobooboo0ooDbooboboooDoooo0oDbDoOoobOOo00oDOoO0DbDOg acce
dO00O00acc.balance U0 ODOOOMO balance O UOOOOO0OOOOMO

withdraw O BankAccount 00 0000000000000 O0O00DO0COO0O0O0OOOwithdrawOOOOO
U0 self 0000000000000 0O0O0O0O0O0COO0O0O0O00O00O self.balance000O0OOO0O

UoboobodbDbd balanceU O OOOooogn
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acc.withdraw(1973, 50)

O00000000OaccO balanced 50000000
deposit O view_balance 000000000 DOOOO0DODOOODOOOOOOOOODODOOOD

OO0 8.1. height 0 width OO OOOOOOOOODOOO0OOO0OO0O0O RectanglerO0O0O0OO0OO0OOO
height 0 widthOOOOOOOOOOODOOO Rectangler OO0 OO0O0O0O0O0O0O0O0O0OO areal
ooooo

82 OUOODOOO

gobboooobbioo0obbO00bD BankAccount DO OODOODOOODOODOOOODODODOOO
gobo0bodbbO00bDBankAccount UOOOO0O0OOO0O0O0O0O0O0O00O0O0OOQO BankAccount 00
000000 BankAccountWithInterest U0 OO ODOOOOODOO

RubyOOOOOOOOODOOOOOOO0OODODOOOOOOOOODODOODOOOUOOODOOOOOO
gobooboobbooboobboobuoobboboboobboboboobbobboobO AAA0n
OO0 BBBUOUOOOOOODOODOO AAAODODODO

class AAA < BBB

goooooa
00000 BankAccountWithInterest OO OO0 OO

class BankAccountWithInterest < BankAccount

def initialize(b, p, r)
@balance = b
@pass = p
Qrate r

end

attr_accessor :rate

def add_interest
interest = ((self.balance * self.rate) / 100).round
self.balance = self.balance + interest
puts self.balance.to_s
end
end

add_interest DU UO0O0OD0D0 rateJ 000000000000 0OO0O00OO000O0O00O0D00 roundU OO
goooooooooboooooooobobooobooobobobobooobOoboboooooDoboboo

acc = BankAccountWithInterest.new(1000, 1973, 2.5)
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acc.addInterest
1025
acc.add_interest
1051
acc.add_interest

1077

00 0O BankAccountWithInterest [J BankAccount 00O OO OOOOOO BankAccount 0O O OO OO
J000d0o0oo0ooOoOooooono

acc.withdraw(1973, 100)
977

acc.deposit (50)

1027

9 RubyOO OO

goobe0b000OO0O0OO0O0OOOOOOOOOOOOOOOOODUOODUOOOODOODOODUOODUOODODOOOO
gobooboooobd

English | Math | Biology | History
John 88 71 95 80
Peter 65 45 70 95
Mary 90 89 94 58
Jane 75 90 7 63

goboobogbboobooboooboobooboboo

L
[88, 71, 95, 801,
[65, 45, 70, 95],
[90, 89, 94, 58],
[75, 90, 77, 63]
]
000000 tabletOO0OOOOOO

gogbooooboooo

eJ0O0COOCCOOOOOCODOOOOOlIDOODOOOO
eJ0O0D0ODOODODODODOOODOIDOOIMODODOO
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e (mn)000D00O0DO0OmMOOA0D000000OO0OD (m,n)00000D00O0OD0ODOOODOODOO

O table 00000 (m,n) 000000 tablem][n] OO000O0OO0OO0DODOO0OOOO

91 OOOO

O tabled nO0O0O table(n] 000000000000 DOODO0OO0 nO00O0DOO0OOOOOOOODO
coooooooboocoobooornbOOOOOOOOOOOOOOOODOOOOCOOODOOOODOOOOOn
coooooooood

def column(table, n)

count = 0
length = table.length
list = []

while count < length
list.push(table[count] [n])
count = count + 1
end
list
end

92 OOODOODO

00000000000000000000000000000000000*80

def table_sums(table)
count = 0
length = table.length
sums = []
while count < length
sums . push(list_sum(table[count]))
count = count + 1
end
sums
end

gooooboooobobooobooobooobobooobooobbooboboobboboobo
goobooobobooobbooobooobbooobbbooobooobboobboobboon

exchange_series 0000000000 exchange_series(tablel) O

[
[88, 65, 90, 751,
[71, 45, 89, 90],
[95, 70, 94, 771,
[80, 95, 58, 63]
]

*18 1ist_sum 0000027200000
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cooooooooooooo

def exchange_series(table)
count = 0
length = table[0].length
new_table = []
while count < length
new_table.push(column(table,count)))
count = count + 1
end
new_table
end

0000000 tableO0O0O0O0D00OOO table_sums(exchange_series(table)) 00 ODOO00OOOODO

oooo

00 9.1. (1) 000000000000 D00O table_avesJO000O0OD0ODMMOOODO3000 listAve
god

(2) 0000000000000 0000D0000D00OD00D00OD00O0O0 table_designated_sums [
0000000000 tableDesignatedSums(tablel, [0, 1]) O [183, 135, 184, 1521 00000
gob0boboobobooobob0ob0b0obO0obOd 1ist_designated_sumJ 0000000000

93 ODOOOOOO

O000000o0oo0oo0ooOoOO0O0cCO0O000000o0o0o0oDO0O0O000O000 tabled OO0 600000
000000000 (1,1) 000000000 (2,3) 0000000000000 0O0O0DODODOODOOO0D
coboooooboocoooboooobooobooboooooOooobooobooOooOoOooOoOoobobooooOooOoooOooobooa
ooo

def entries_less_than(table, n)
countl = 0
lengthl = table.length
list = []
while countl < lengthl
count2 = 0
length2 = table[countl].length
while count2 < length2
if table[count1] [count2] < n
list.push([countl,count2])

end
count2 = count2 + 1
end
countl = countl + 1
end
list
end

entries_less_than(tablel, 60) O [[1,1],[2,3]1] 0000
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00 9.2. (1) 00000000 entries_more_than(entries_equal_tolentries_between 00O OO
good

(2) 0000000000000 0O00O00O00O0O0OD tablemaxs JO0OO0OO0O0O0MMOOOO31 00 max
ooom

(3) 00000000000000 tablemax 00 000000000000 DOO0OOO0ODOODOOOOODO

0000000 max_entries0 000000

94 OO0 HmOOD

O0 HtmlOODODOOOO0OO0O0O0OO00000000000Hml 0000000000000 0000O0O

goo

e <TABLE border=1>0</TABLE>O0 0 0O0OODOOO
o <TR>O/TR>U0OOOOOOOODOO

e <TD>[</TD>0 0000000 OOOOOO

oooood

39 2 894

112 || 234 || 71

coooao

<TABLE border=1>
<TR><TD>39</TD><TD>2</TD><TD>56</TD></TR>
<TR><TD>112</TD><TD>234</TD><TD>71</TD></TR>
</TABLE>

000000000 0oo0oon
Ruby OUO HtmlOOOOOOOOOOOOOOOOOOOOO*PC

def tableToHtml(table)
countl = 0
lengthl = table.length
string = "<TABLE border=1>\n"
while countl < lengthl
count2 = 0
length2 = table[countl].length
row = "<TR>"
while count2 < length2
row = row + "<ID>" + table[countl] [count2].to_s + "</TD>"
count2 = count2 + 1

*19\npgOoOoOooooo
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end
string = string + row + "\n"

countl = countl + 1
end
string + "</TABLE>"
end

00 93. 00 TRXOOOOODOOOOOD tableToTeXOOOOOOODMMOOOOOOODOONODOOO
goo"\\"DOOooooooooom

05 ODO0OO0O0ODOODOUOOODOObDOOOODObDOObOODbDODbO

00000000000 0oo000o0O00OO0O0O0O00OO000OOO0O0OOO0DOo0OO0 YAML
ooooooooboboooon

YAMLOOOOOOOUOOOOOOOOOUOOOUOUOOOoOoOooooooouoooooooooooo
Ruby OOOODOOOO YAMLODOOOOOOOOOOOODOODOOODODO require yaml’ 000000
O0YAMLOOOOOOOOOOOOOOO .to_yaml OOOOOOODOOOOODO

require ’yaml’
puts([0,1,2].to_yaml)

cooood

|
N = O

ooooooo
OO0 yaml_test.txt 00000000000 DOCOOCOOOOO0OO0OOODOOCOOCOCOOOOOOOO
ooo

text = [0, 1, 2].to_yaml

file_name = "yaml_test.txt"

File::open file_name, "w" do |f]|

f.write(text)

end
gobobooobbooobobbooobbooobbooobbooobDbbooDDbDb textbOoon
goboobooobuoobobooooboo

OO0 YAMLOOUOOOOOO RubyOOOOOOOODOOOD RubyOUODOOOOOOOOODOUODOOOOO

0000 YAML::1load O YAMLOOOODOOOOOODOODOOOOODO YAML: :load("--- \n- O\n- 1")
goooooooo [o, 110ODOO

ooboooobooooooOooO0obDOoO00bOb00O0nn Filer:readOOOOOOOODOOOODOOOODO
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coobOoobobOboooboooobooooobOboOo0bbod feotxtOOOOOO0OOOODOOOODOOOOO

read_string = File::read("foo.txt")

0000000 read_string foo.txt 0O OOOOOOOOOOO0O0OO

00 94. (1)3700 tablel 0 YAMLOOOOOOOOODOOODOOODOOODOODOOODODODOOODO
ooooooobooobooono

(2) 0000000000000 00O0D0O0O0O0LO0OO0DOODODO0OD YAMLODODOOODODOODOOD
000000000000 make_file_yaml OOOOOOOO
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